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1 HALE 5 50 i BB X B AL X 51302skktkkk0550 5 510
2 X4 B’y 63 ik HS FIEAEL 51302skskskskkk::0520 5 510
3 P 5 47 i B AR X 51302skktkkk0550 5 410
4 JERIL 3 64 i B AJRAE X 5130235830550 5 310
5 XN ZKAR L 58 ik B AJRAE X 51302skksk844%%0550 5 310
6 iR 3 51 ik Bl AJRAE X 5130235k 055X & 510
7 SIS Es 56 ik BB AJRAL X 513024440570 5 510
8 gL E: 60 X B AJRALX 513023k 055X 5 410
9 AL 5 51 i B AJRAE X 51302skktokckk 7733 s 410
10 A i 46 i Bl S B4 X 513023kksok3k0205 5 310
11 BOCE 5 54 St ER BRI X 513024460574 5 510
12 B 3 24 i B SR B4 X 5117 2skksokiokk 5532 5 310
13 2R Tl 5’y 52 St Bl St B A X 513003kt 0626 5 510
14 HEK®E & 50 ik Bl AL X 513023k 358X 5 510
15 A4 5 55 i B PN 51302skktkkk06 79 5 410
16 % [ 1A 3 60 ik B T R4 X 51302skksok3k0055 & 510
17 FBEZE Z 89 i B SHRER A X 51302skkekkik0521 5 410
18 PRIEZY 7 62 ik B ik BE A X 51302skksk844%%0570 = 410
19 A AR L 60 ik B BEIPAS 51300skkkkkkkx061 1 %5 510
20 Bk £ 53 ik B AR 51302kttt 045 1 %5 310
21 KM I 48 Sk R KT At 51102tttk 0949 i 410
22 A 5 59 ik Bl ik B 5130233001 1 5 310
23 - il L 34 St Bl St B A X 51302 kskkkkk4k0 198 & 510
24 RG] % 69 ik B FIEAFL 51302skksok3kk0557 i 620
25 IR X 68 SHER AR 51302skktoketetolok 0524 7 310
26 HEE 3 51 i B SR BB AE X 51300skksok3k0675 & 310
27 L H 5 60 X B HEIN A X 51300skktkkk0653 & 410
28 HEE 3 63 i B SR BB AE X 51302skksok3k0575 S 310
29 BRE Z 43 SHER AR X 51302skktokkk0529 5 510
30 1] 5 % 3 58 i B S B4 X 51302skksokkk0013 & 310
31 [T 5 56 i B SHRER A X 51302skkekkk007 1 5 510
32 S 7 49 ik B =il X 5130254440017 5 410
33 i 5 52 Yt Bl HEIIH: X 51300s%kk:k44k0656 5 310
34 S [H 4 5 56 ik B AR 513020559 = 510
35 Tk ZE L 4 38 RER | ==X 44188tk 0021 s 510
36 UL 5 51 ik B KA 51302skksok3kk001 2 5 310
37 R 5 57 ik BB K HHX 5130044440656 5 510
38 JE 5 3 60 ik BIS KA X 51302skksokskok 1 350 5 510
39 AR Y 0 51 ek BS K H X 51300skkkk40626 & 510
40 eSS 3 18 ik BIS AJRAE X 5117 2siksokiokk 5993 & 510
41 ikt B’y 78 X B SN 51302884455 0462 5 510
42 JERH Y 3 59 ik Bl AJRAE X 51302skksok3k0555 = 510
43 ZE WL 5 53 i BB KX 51300skkkkkk06 35 5 510
44 EEHF % 36 ik Bl X BB AL X 51302%kksk%%%055X 5 410
45 Tz Z 32 i B SHRER A X 51302skktokkk0562 5 820
46 5 i@ 11 i B S ERAE X 5117 2sksksioksiokk 5962 5 310
47 E 5 Z 36 X HE S ER A X 51302skktkk0060 i 410
48 FE E: 37 ik B ik BE AL X 5130254440559 = 510
49 T LS 32 ik BB Xk B A X 51302skkkk+x0555 %5 510
50 A e @ 48 ik BB SR BB AE X 51302sk58k4%%%052 1 5 510
51 fIRE 5 21 SR B X B A [X 5117 2skktkkk5979 Fn 310
52 HFE % 63 ik B S B4 X 51302%%%4444%6564 = 310
53 LN @ 80 St Bl St B A X 51052%kskkkkk%5262 5 310
54 24 54 82 ik B SR AR AL X 51052%kkkk%%%6964 5 310
55 B a3 B’y 62 ik B Xk B A X 51292skkkkk%x 8346 5 410
56 ZHE B’y 84 ik Bl SR B AL X 51253 kkskkk5269 5 310




57 M I 82 pTAE(l Xk HE A X 51022kt 4 343 & 310
58 E-Pietin i 81 ik B ik B A X 51302skkkk%x0523 %5 310
59 FAE % 24 Sk Bl i B A X 5117 2s%skkk8k553X & 510
60 X H 4> X« 78 ik B ik B A (X 510523445386 %5 410
61 kA3 gy 62 i B S BE 4 X 513023kksok35k05 26 5 410
62 B LS 50 ik BB YR B A X 51302skkkk%%x0195 %5 410
63 2 E 3 59 Xk IS KJE LA 51300%kkskkeiokk0633 & 510
64 PR kS 56 Xt R4 X 51302:kkkk44%0033 5 410
65 R 7 48 Sk B ik B 4 X 51302 kkk k464928 S 620
66 R 5 46 ik B S ER A X 51302skktkk00 10 5 310
67 AR B’y 50 ik Bl KITHS 51302sskskskkk::0025 &5 510
68 AL 5 54 i BB SHRER A X 513023kttt 007X 5 310
69 A % 60 BTl KITk 51302kt 00 1 7 & 510
70 R 5 56 i BB KTt 51302skktkkk00 38 5 310
71 WMIER 'y 45 S Bl S BE A X 513003 kskkk:06 14 & 510
72 [ 3 5’y 46 St Bl Sk B £E X 513023 skkkk4k052 1 & 510
73 Tk &8 i 68 ik B S B AL X 51302sksksoksckok 0522 5 310
74 KEE i 83 Xk BB X B A X 51302skkkkk%x0527 %5 310
75 5 E 5 61 X B S BE 4 X 51302skksok3k0558 5 410
76 24 L 73 St Bl St B A X 51302%kskkk%%0559 5 310
77 EHFI %« 51 ik HS S B4 X 5130255kttt 056X &5 310
78 F4l 5 21 X HE FSEN 5117 2sktckekokok5958 7 310
79 TERLRK & 21 ik B ik BE AL X 5117 2skkk844%%5963 = 310
80 N 5 49 ik B A [X 5130006 1 X 5 930
81 JiigatE @ 42 i B HEIAE X 51390skkscoksokok 4542 5 310
82 kil 5 5 10 i BB X 5117 2s%kktokkk5958 5 310
83 e 'y 85 ik Bl FIEAFL 51302sksktokeiekok0526 S 310
84 B i 84 ik B AR 51302skketksikk 052X 5 310
85 M 7 55 ik B ik BE 4 X 51300skkkkkkx%0634 = 510
86 B i 59 Yk HR B AL IX 51302skk4k%0216 i 310
87 [ g i 28 ik B S B AL X 51302sksksokkk0529 5 310
88 BN 5 58 St E K HHX 5130044440616 5 410
89 i i@ 44 ik Bl HEHAL X 513023kt 8364 5 410
90 [ 5 56 S ER AR 51302sktckekeolok 0618 % 410
91 HhA %« 57 ik BB S B4 X 5130258440446 5 410
92 9] 5 62 ik B SR ER A X 51302skktkkk0570 5 410
93 gz za 4 56 ik BS Xt B AL X 51302%kskskkkk::0524 5 410
94 YRE 8 85 ik B S ER A X 513023tk 0522 5 410
95 £ i@ 52 ik Bl SR B AL X 51302%%kk444%0548 5 410
96 o PHUE 5 23 i BB SHRER A X 5117 2s%kktokkk5958 5 310
97 % ok % 16 ik BB ik BE A X 51302skksk844%%0593 = 510
98 H¥ % Z 38 i BB SHER A X 51303keketokickk0648 5 510
99 AL 3 43 i B SR ERAE X 51302sksksokscksk (0197 5 510
100 S R i 55 ik B ik B A X 51302skkkk%%x0208 %5 1530
101 PN % 32 ik B ik BE A X 5130254440193 = 310
102 P 5 26 ik B S ER A X 5117 2skkk4%%%5959 & 310
103 [a] 5 5 59 ik B KITH 51302skkk448k0016 5 310
104 =44 1 5 60 St BR KX 513003k k4kx0638 o) 410
105 e 5 50 ik B EHAEX 513005306 10 7 620
106 £ 5’y 41 Xt HE AL X 51302skkkk4kkk 3444 S 310
107 %7 % 58 i Bl AL X 5117 2%%44444%8979 5 310
108 f= 3C B 5 56 St E HEIIH: X 51300440619 5 410
109 EVAY 3 52 i B S BB AE X 513003k 1 034 5 310
110 RN 5 56 i BB KX 51300kt 06 34 5 410
111 K % 7 ik BB ik BE A X 5117 0skskkkkk5%0094 5 620
112 K K Z 20 ik BB SHRER A X 5117288457303 & 310
113 FHE i@ 39 ik B X BB FE X 51302%k44444%0527 5 410
114 £ 1953 & 45 St E it B A X 51302%kkk444%8382 5 620
115 Sk 5 51 ik B X B AL X 51302kttt 1714 %5 310
116 PR AR 5 15 ik BB Xk B A X 5117288545951 5 510
117 R E: 13 ik Bl SR BB AE X 5117 2sekolotoksiekok5974 7 310




118 fi[ 4 45 ik B Sk BRI 51302kk555%%0520 & 410
119 BRI i 43 I IETERS 51292tttk k6321 g 310
120 N 5 34 MBE | = whilidkX 51302sekskokx001 1 4 410
121 S 5 59 e | =Rl 51302 kkktk60016 o 410




